y=ax +bx+c2 LA A (0,8),(1,-2),(3,-10) 7
i qlshH

c=8a+b+8=-29a+3b+8=-10
La=2,b=-12,c =38

y=2x2-12x+8 = 2(x - 3)° - 10 W2tA Zo] A2 L x =3
ojt.
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@ y=3x2-3x-6 @ y=-x*+6x-8
@yz—%x2—2 @y:x2—2x—3

® y=-x>+5x—-4

B

y=a(x-3)(x+1) 3L, (0, -3) & At
-3 =-3a

a=1

A y = (x=3)(x+1) =x—2x-3
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Jj=olct, o] W, a+ b + ¢ O] F2?

y=a(x-1)>+¢

x=04d W, a+g=-3 ------ (1)
x=3Y W, 4a+g=0 ----- (2)
(2)°llA (1)= ™, 3a =3
La=1,qg=-4

y=(x-12-4=x*-2x-3
et x =12 W, y=a+b+c=-4°th




